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A car accelerates from rest at a constant rate « for some ime after which it decelerates at a
constant rate 5 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :

Options :
2ap 2
8643519181, (@ + B)

o 3
2(o + B)

tZ

8643519182.

A B

a
8643519183. { B}

|« B 2

4 (o -
8643519184, Tt B)

Question Number : 1 Question Id : 8643513061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 8643513062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
IL, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

i

Options :

8643519185.  *

{ IJZ W
m| g
nsR

8643519186.  * i
i
il
m i y_}
8643519187. ' ° /

8643519188. k

Question Number : 2 Question Id : 8643513062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

0’
; E*.W
R

m[
8643519185. )

112 W
¥ p-’ﬁ R

I“{E
8643519186.

v?
m { = g}
8643519187,  \I'

{ . W
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8643519188. /

Question Number : 3 Question Id : 8643513063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643519189. S
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8643519190, 1600]

8643519191. 5200 ]

8643519192. 1500 ]

Question Number : 3 Question Id : 8643513063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2.8 TRy &5 moaa 400 K S8dsn 800 Kw:nc;i 5 D u“imfa:ad& 508y TR @) IVFeSeSw

1200 / cycle. |38 D8S &° exdfsin ol zo=d D
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Options :

8643519189. ad

8643519190, 1600 ]

8643519191. 5200 ]

8643519192. 1800 ]

Question Number : 4 Question Id : 8643513064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
i
8643519193, 10 "m T
3

8643519194, 2x10 " T

Sl
8643519195, °

w T
8643519196.
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Question Number : 4 Question Id : 8643513064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&5 &° 1000 Sy Ko a8 FBrand @Y 56 Faf B3 dexd 500. FBTronE &

3
8643519194, 2% 1077w T

| =

8643519195.

8643519196, " |

Question Number : 5 Question Id : 8643513065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velf}cit}-' of

2x1073 ms~!. The number of free electrons in each cubic meter of the wire is

Options :

6
8643519197, 2% 10

23
8643519198, 1 10

s 25
8643519199, 62510

25
8643519200, 2% 10

Question Number : 5 Question Id : 8643513065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

[
8643519197, 2% 10

23
8643519198, 1 10

; 25
8643519199, 62510

25
8643519200, 2% 10

Question Number : 6 Question Id : 8643513066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L , which lies in the positive z direction and the angular momentum of
M about point B is L. The correct statement for this system is :

A1 /!
Options :
L, and Ly are both constant in magnitude and direction
8643519201.
8643519202. L, is constant, both in magnitude and direction

LE is constant, both in magnitude and direction
8643519203.
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LB is constant in direction with Va_rving magnitude
8643519204. ¥

Question Number : 6 Question Id : 8643513066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

L, S08¢5% Ly en Both H88measr HBakn B8 GoeEey
8643519201.

L, 255, D05rnasn SHoan ads
8643519202. =

Lg 2850, H08me0s0 Hoakn de
8643519203. "

Lp 2850 636° =0 $85rasn SrHdob.
8643519204. *

Question Number : 7 Question Id : 8643513067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8/90



3/17/2021
An AC current is given by [ =1, sinwt+ 1, coswt. A hot wire ammeter will give a reading :
Options :
L+ 1
8643519205, V2

Il | IE
>
8643519206. 272
] 2
\’I] | Iz
8643519207. 2
-2
[19 2
8643519208. Vo2

Question Number : 7 Question Id : 8643513067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643519205. V2

Il | IE

>

8643519206, 2V2
\"12] - 15

8643519207. 2
i

8643519208. \J

Question Number : 8 Question Id : 8643513068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A polyatomic ideal gas has 24 vibrational modes. What is the value of y ?
Options :

8643519209, 10-3

8643519210, 130

8643519211, 1-03

8643519212, 1-37

Question Number : 8 Question Id : 8643513068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643519209, 10-3

8643519210, 1-30

8643519211, 1-03

8643519212, 1-37

Question Number : 9 Question Id : 8643513069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :
ab

b—a

8643519213.

ab
at+b

8643519214.

.h a
ab

8643519215.
10/90



3/17/2021

.alb
ab

8643519216.

Question Number : 9 Question Id : 8643513069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

ab
b—a

8643519213.

ab
a+b

8643519214.

.b a
ab

8643519215.

.alh
ab

8643519216.

Question Number : 10 Question Id : 8643513070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A triangular plate is shown. A force F = 4 .!:. "’r;r is applied at point P. The torque at point

P with respect to point ‘O’ and ‘Q’ are :

YA

> X
Options :
8643519217, — 15 —2043, 15— 2043
8643519218, 15 + 2043, 15 — 2043

8643519219, 15 — 2043, 15 + 20,3

8643519220, —13 + 2043, 15 + 203

Question Number : 10 Question Id : 8643513070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
8643519217, — 15 —20v3, 152043
8643519218, 19+ 2033, 15 — 2043

8643519219, 15 — 2043, 15 + 20,3

8643519220, —15 + 2043, 15 + 2043

Question Number : 11 Question Id : 8643513071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K, and K, respectively are connected in
series. The effective thermal conductivity of the combination is :

Options :
K1 Ky
Ky + Ko
8643519221.
2Ky Ko
Ky + Ky
8643519222,
Ky + K
Wi Ks

8643519223.
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K, + K,

8643519204, 152

Question Number : 11 Question Id : 8643513071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
iy . ot R & FBugnt Baro s S :
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Options :
Kq ko
Ki + Ky
8643519221.
K4 Ko
Ki + Ko
8643519222.
Kp + Ky
= e
8643519223, 1 K2
Ky + Ky
Ki K
8643519224, S

Question Number : 12 Question Id : 8643513072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms~!. The ball gets

deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic
energy. What is the speed of the ball now ?

Options :

8643519225, 1.00 ms ™!

rr 1
8643519226, 147 ms

1
8643519227, 1441 ms

1
8643519228, 19:0 ms
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Question Number : 12 Question Id : 8643513072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L _I:. Z N 5 = R L™ n -
2.8 rentd 08 O JoD a8 0.5 kg 2083 20 ms 1 sa& GPoamh. trb8° @ 208 2.8

R TV IV R S
= Fwlw] {ﬁn.:l ) glod ol s g
= A =

JQZ&EZJ & 208 \.ﬁm-"b"' a6 ?
Options :
8643519225, 1.00 ms

r 1
8643519226, +-47 ms

1
8643519227, 1441 ms

1
8643519228, 19:0 ms

Question Number : 13 Question Id : 8643513073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm.  If the
speed of light in the material of the lens is 2108 ms 1. The focal length of the lens is

Options :

8643519229, 20 cm

8643519230, 15 ¢m

8643519231, 12 cm

8643519232, 0-30 cm

Question Number : 13 Question Id : 8643513073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643519229, U cm

8643519230, 15 cm

8643519231, 10 cm

8643519232, 0-30 cm

Question Number : 14 Question Id : 8643513074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the ground state energy of

h}-‘dm gen atom ?

Options :

8643519233, !
4

8643519234

8643519235, ©

8643519236.

Question Number : 14 Question Id : 8643513074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ ©cHLEn PGS B D :’Rm S805» TEER RS H8Srm grdrone ew SSFESD ?
= i} —
Options :
8643519233, 1
4
8643519234,
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8643519235, ©

8643519236. 8

Question Number : 15 Question Id : 8643513075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T, and T, are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases 15 :
Options :
.I'IIF]_T]_ 1 f'lezTZ
8643519237. kg
.I"IFITI { I"IzeTz
8643519238. F+5K
.I"IFITI { I"IzeTz
8643519239, Mif1 + mafy
.I'I ITI { nZTE
|
8643519240, 1 M2

Question Number : 15 Question Id : 8643513075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

nFT + noBT,
np +ny

8643519237.
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: n lFlTl { I'IzeTZ

8643519238. F+5

.I'IIFIT]_ { I'IzeTz
I'IIF]_ { I'Ize

8643519239.

1 lTl f I\2T2

g { No
8643519240.

Question Number : 16 Question Id : 8643513076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic
oscillation become equal ?

Options :
8643519241, X = T A
8643519242, ¥ =0
x= = %
8643519243, V2
r""!;
x e S a7
~
8643519244 -

Question Number : 16 Question Id : 8643513076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2.8 SuEsoe @'éé B[ORD D %él'-""ﬂ%im sf.t_f; e ‘Hé'ﬁﬁ“é_cé 00w N8xdSHen SESsDyEEan ?
Options :

F=E N
8643519241,
8643519242, ¥ =0

¥ = E i

o]

8643519243, V2
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x
8643519244.
Question Number : 17 Question Id : 8643513077 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The output of the given combination gates represents

A

B

Options :
8643519245, AND Gate

NOR Gate

8643519246.
NAND Gate

8643519248, NOR Gate

&
&

8643519247.
Question Number : 17 Question Id : 8643513077 Question Type : MCQ Option Shuffling : Yes Is

& o AL e oL
d@00)) o)

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
o Enon B & “ P A
Qmwwi:um @"_'El(‘rb D2 ad)

A
B
19/90

Options :
AND o8

8643519245.
NOR 706

8643519246.
AND H508

8643519247.



3/17/2021

8643519248.

Question Number : 18 Question Id : 8643513078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

XOR 2508

An electron of mass m and a photon have same energy E. The ratio of wavelength of electron

to that of photon is : (¢ being the velocity of light)

Options :

8643519249.

8643519250.

8643519251.

8643519252.

Question Number : 18 Question Id : 8643513078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m (SHordne a8 Jogd Hodin a8 Fird

8643519249.

8643519250.

8643519251.
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¢ (ZmE 1]'1'5

¢ (2mE 11'1'5
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g

| ¥

1 Emw 2

20/90



3/17/2021
1s

¥

=
8643519252, € \2m)

Question Number : 19 Question Id : 8643513079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643519253, 508 cm

8643519254, 5-26 cm

8643519255, 5-0% cm

8643519256, 5-36 cm

Question Number : 19 Question Id : 8643513079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

EodHITPoRodS I8)aHb o TE) FTeEE drayged &84S0 0.2mm Fodd DR

6 ©onST Fod ToE) S6@S Dend cm. (505 £o&=0.01 cm)
Options :
8643519253, B-98 cm

8643519254, 8-26 cm

8643519255, 5-0% cm

8643519256, 5-36 cm
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Question Number : 20 Question Id : 8643513080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If an electron is moving in the n'" orbit of the hydrogen atom, then its velocity (v,) for the nth
orbit is given as:

Options :

8643519257, 0

t
8643519258, ™

8643519259.

8643519260.

Question Number : 20 Question Id : 8643513080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

D B S L e iy Sl ol afaCe AD N mn T lm Oy, ol il a AT ;
FETa0 H6SPR g nd 85 & QuzP0 H0(geby Yo el IS (v,) -

_ = —Ea = b e
Options :
0. o« ne
8643519257. ™
U, o« n
8643519258. "
ri) or i
n 2
8643519259. n
- l
U ™ E
8643519260.
Physics Section B
Section Id : 864351206
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
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Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351206
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643513081 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. : 5 : . s
For VHF signal broadcasting, __ km~ of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take w as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513081 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

30 m e so8x ©I6 VHF SoSerwid  km? 105 STeexsnds ESEvalet vy
Sdhred. g wyi’:ﬁm‘{m 6400 km e 820808, (08 Cﬁl;.i‘fi JeTEol Eﬁu%“:sa H58007)

: G ) i3 E
(7=314 ™ 855 5H50)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513082 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If 2.5x 10 ~® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface
is W/cm? (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513082 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

40 Do SPeHEHS” 30 am® Ferego e eDTEYE Ghd800R a8 SF08 SSoiEn 2.5 x107 8N

ATPR0 odnd Senfidndd. eabdwon D850 Jod o §odo dwoth o sPod Tny) 48
wfarse W/ an? (08 iﬁ{".ﬁi"‘F TrTROE ?éuazz'jéh r33B800)

(530 S%Geesn S8 wor DESEDED KOSEEKSD)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513083 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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7
bt

Four identical rectangular plates with length, I=2 cm and breadth, b = cm are arranged

a |

. ' ) ; ., XE )
as shown in [ igure. The equwalent capacitance between A and Cis 2. The value of x is

(Round off to the Nearest Integer)

N A R
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643513083 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

&

SHEXnE® rN DGO Trenrh S8HsTrS Heded e:’;mfg_:m‘{'n. 2 83¢ LD 1=2 cm S5oBGsw

3 X8
I&eny b= = cNer, A dciy Ce ;JQJ:J He E’a:*:ﬂyoé gshﬂ'w{m dﬂ CN X SED
(0& CﬁL;.EI JFTRPOS 503,::5%'& r3800%)
H ) e
A B C D
>
d d d

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643513084 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalent resistance of series combination of two resistors is‘s’. When they are connected
in parallel, the equivalent resistance is “p’. If s=np, then the minimum value for n is
(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513084 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

£ & o g i "
Bo IGES0e 1B Sodrensy @exos S0 ‘s Sobcy IS0 ROodeis) erod

Flegate 6 ] e Sy S =Np R S n @B e?—;“::'j..,m Dewsd . (08 (’f:{'jf‘:l ) o lel

s uazééb 238 0WRN)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513085 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pl.

(Assume no friction)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643513085 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C =14 pF Eh&sm o a8 D858t Hel 59800 V=12V Pr8Quhd ol ered Bt

DERTPI I TTE. Y e,

(0850 BEHE D L0)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643513086 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

sp that the escape velf}cit}f is increased 10 Hmes is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643513086 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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HercDS ISnD 10 Dén DS B S frargrdan (R=6400 km) 5 HHODHORS
5 .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513087 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angula_r speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions by the truck engine during this time is

(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513087 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

st g5 g = il o o 4 £ B L
26 DEDOS” a8 |HY) Bhdh AED 900 rpm ol 2460 rpm B oUTH. wond ¢ (D)

[OeD Jth:ué* et -5..”;_1@&.5: |&FsSoeare ~3ua:5 . (é’;ﬁm&”m RSNOTP mﬁdd{n?{ma”m]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513088 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
.

The ratios of time period of oscillation of the two SHM is Tl;}ﬁr = Jx, where value of x is

! a

(Round off to the Nearest Integer)

LA PR LEETT SRR PEE RS

- i
< =
L
Ta Tb
=
Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513088 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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(B350 M & 2807 &2fos Ko (B&goed SOND DToth H8K0sed,00 QTrosan k 5OAS,
| PR | 3
BotheoD Sesnd® Srdodard. Figl &° a8 ol $8csn Fig2&® =8 (Bd HSo@rrsnd

; ; o T 3
SE0BakSd. Dot HEE FoEE Foseo ol solve 38 b =V eons &
# d

Ty
ik,

X e . (98 &5 Jrgros Jogrd HN00N)

&

LELET L LLIEIEI

00000
00000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513089 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,
(1) aring

(2) adisc

(3) asolid cylinder
(4) asolid sphere,

of same mass ‘m’ and radius ‘R’ are allowed to roll down without slipping simultaneously

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

B N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513089 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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s

SosrEorr HErS (BEoed ‘m’ S8y TeIedsn ‘R eo EOAS Trentd SyHen,
: 3

(1) a8 &ondsio

Wy i - .
(2 o8 3%
(3) a8 K& Sedsn

I

(9) a8 KB F¢sm,

SSHone a8 Tren doo D ol FHHND. wand Tren dod) ot grridndd dodérr

TH HP o [55508) Dol SEBn Srdothin]
o
? h
0 W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513090 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in [ igure. The coefficient of static friction between the two blocks is —. Then the

7

maximum horizontal force that can be applied on the larger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
| m
F
M —»

LT i

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643513090 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

D€ IrDD APore Told B (m=0.5 kg 00ao M=45 kg) &8 §8e J3rody

a8 80 e *E?Sfafjdﬂfﬁo ot &;hl;b w:n{ﬁ' 5 e Eﬂfﬁé 5::\::&“,13& a"’owi‘é{m;. ot &Km@_m =tk
Eoen s (SArACESSeNS i”.f:l%_i S8z Jdrodt 2esdn o

(28 &0 sJrorod Doy H5600Y) [g=9.8 ms—4

(]
F
M —»
VT S A A
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
Chemistry Section A

Section Id : 864351207
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351207
Question Shuffling Allowed : Yes
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Question Number : 31 Question Id : 8643513091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.
The shape of this molecule is :

Options :

planar triangular
8643519271.

8643519272, | -shaped

8643519273, SCC5AW

bianal Granadal
8643519274, 0TAl pyra

Question Number : 31 Question Id : 8643513091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. v £ \ PRI, i g 1 il | S - . sl Yy i
a8 wmd &80 o8 SESrHP Both 2,068 HOISTR ezobenTnon HOC B

it

NEROFORG 08, 8 ) aseEn
Options :

|68°es Wsbdfersan

8643519271. -

8643519272, -ESEED

il 2e (see-saw)
8643519273. ;

8% drorgsedo (trigonal pyramidal)

8643519274, =

Question Number : 32 Question Id : 8643513092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643519275, aerosol
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8643519276, Solidsol
8643519277, f0am
8643519278, 8¢
Question Number : 32 Question Id : 8643513092 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
a8 foo8® sraing DFso SobS Pepontd ;".E'J;".i{n eeenne- 80 @OETD.
Options :
i T e S
8643519275, &P E
455258 Joe5
cJoJEs o R0
8643519276, &
6,
8643519277, ¥ ¥
8643519278, =
Question Number : 33 Question Id : 8643513093 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The absolute value of the electron gain enthalpy of halogens satisfies :

Options :
8643519279, F > Cl>Br > 1
Cl>=F>Br>1

8643519280.
Cl>Br>F>1

8643519281.
[>Br>Cl>F
Question Number : 33 Question Id : 8643513093 Question Type : MCQ Option Shuffling : Yes Is

8643519282.

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

oy

5% © oIS [Py JoTde DY e
Options :

F>Cl>Br=>1
8643519279, )

8643519280, <1 > F >Br>1

8643519281, 1> Br>F>1

8643519282, 1> Br>Cl>F

Question Number : 34 Question Id : 8643513094 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

% (absolute value) &80

0
-100+—
ACu + 0, 2cu.0
-200
oyeQ
R *].‘Ec*n C+0,—»CO.

o
= 4001 o
i e 2,
E -500 '],':-0 x '3 ‘IzlﬂD 3 EEO

P i
g 600 gan O
S 700 i

800 b g |3 A

Oy
900 4387
— onig®
-1000 — 'E-ME' +Os
1100+
1200
| 1 | | 1 1 1 | I 1
0eC 400°C s00eC 1200°C 1600°C 2000°C
273K 673 K 1073 K 1473 K 1873 K 2273 K
—— Temperature
Options :

8643519283.

AG <0 and decnmpnﬁition of the metal oxide

s i

(8

330530
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8643519284.

8643519285.

8643519286.

Question Number : 34 Question Id : 8643513094 Question Type : MCQ Option Shuffling : Yes Is

AG >0 and decc-mpc-sitinn of the metal oxide

AG=0 and melting or bDi].i.ng point of the metal oxide

AG =0 and reduction of the metal oxide

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1Bob Heod® ol HothP bk Trend® DWIHEL SHHTE BesHSD

0
-100—
4.(:1‘1-!-03”_!2':“!0
200 <
RS
-300 O C+ 0, 00,
rq ‘].:Fe
E 4000
= 00|
L 131‘:& 2C
o a0 ~22c0
§ -600 gtn O
[
700
= A
—80:)— Il’.an_,ﬂa -
D —~F
900 a8’
o A?-mgo
1000} o+ O
1100F
1200
| 1 | | 1 | | | | |
i A400°C BooC 12000 1&600°C 2000°C
2T3 K 673 K 1075 K 1473 K 1873 K XTI K
——3 Temperature
Options :
- Lo B i peEnE ) Honass
AG > 0 58050 %5 a8E I@rassn
8643519284 il
AG=0 58050 & a& 8508558 Sor erineiss =so
8643519285, Sl i L -

8643519286.

AG=0 %8050 &5 «B)8 BohEteesn
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Question Number : 35 Question Id : 8643513095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) used for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643519287, (&) ONIY

8643519288, (B) only

8643519289, () only

8643519290. (B) and (D) only

Question Number : 35 Question Id : 8643513095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frbeodnd Do20fod HBG@I Ve [ Ddmen A& [ TID
(A) o8008 6UirES ©f® IrLDLE M GIEPAI.
(B) doHo Sourored® wiedssn (by-product) m oo,
(C) 5%y Buirerdsn BenkoB Herdd &3qeAY.

(D) A8 0B IS HDExS B8 R SdAGond.

B0b nsre Ho& KOFS SR Aiys od.
Options :
0) &S
8643510287, () ST

8643519288.
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oy
8643519289, (D) SF&ab

(B) 880 (D) S|
8643519290.

Question Number : 36 Question Id : 8643513096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

8643519291, Cs* > Rb* > K* > Na*

a b b .+
864351909, Nat >K* >Rb* > Cs

t o —~_ }
2643519293, K~ >Na® >Cs™ >Rb

8643519204, Rb* >Na® > K" > Li"

Question Number : 36 Question Id : 8643513096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HBS® adird o FFES Eﬁfjg_.)__t‘;a;ﬁ |Bsosdw :
Options :
—~_ 4 b b -
8643519291, ¢S~ > Rb™ >K™ >Na
-t b b —~_
8643519292, Na© > KT >Rb* >Cs
b ~ b b
8643519293, K > Na® >Cs™ >Rb
b a b : 4
8643519294, Rp" > Na® >K* >1Li

Question Number : 37 Question Id : 8643513097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
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Options :

8643519295. 3
8643519296. PCly

8643519297. NF;

S 4
8643519298

Question Number : 37 Question Id : 8643513097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options

8643519295, 113
PC1

8643519296. 5

N
8643519297. 3

SF4
8643519298.

Question Number : 38 Question Id : 8643513098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643519299. 5.0

8643519300, 220

2
8643519301. Vhes

8643519302, “€T°
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Question Number : 38 Question Id : 8643513098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DEsrear Hogy 25 KMo Expodres (divalent) S5 e OdirS ool o [Trdnsind® e Srdgh
dirdmod [grshsd ensd (BM) Qod ?
Options :

8643519299, 2-U

8643519300, 2-2©

8643519301, 9.92

8643519302, O

Question Number : 39 Question Id : 8643513099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643519303 Both statement I and statement Il are false

8643519304 Both statement I and statement 11 are true

8643519305. Statement 1 is true but statement 11 is false

8643519306. Statement 1 is false but statement 11 is true

Question Number : 39 Question Id : 8643513099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(8o Both DSTeen VNPT !

RSBes 1: Drerdoho ;’:Ucégﬁanff- 0 573 K &8 38 TR Ferhoho SrorIS K.

D5Ges 11 : Srerdpdo &D‘}Jfﬁf 8050 PEPRGHO STroRRES en BIEFRES P Sod So
cﬁtjcéﬁjﬂl DA &otrran.

D Ve wgrdorr, wded SHoN aarnid (ol aiiste Dol IS .

= S
Options :
D58en 1 08 a5 DHYes I en H8GHE) =0
8643519303. e
PR8I 085w 2R Il en H0GHID
8643519304.
Sades 1 HDBGEHRE zea) Ddes 11 H8GHHE =t
8643519305. == o
8643519306 QE0e 1 [0GRE seeh =2 AS5Tes 11:350G038

Question Number : 40 Question Id : 8643513100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643519307, Smoke, fog and O,

8643519308, e f0g and 50,

Smoke, fog and I"Jz‘{:l'3
8643519309. .

Smoke, fog and 1‘CI—I2 =CH - CHO
8643519310.

Question Number : 40 Question Id : 8643513100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
go5¥ses IR 39 oS
Options :

G0

T
o
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if, N0 HOK O,
8643519307. *

15, FBH0D S0 SO,
8643519308.

¥, iiHoD $BAD N0,
86435193009.

8643519310, T SO 500k CH, =CH - CHO

Question Number : 41 Question Id : 8643513101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement 1 :  Retardation factor (R;) can be measured in meter/centimeter.
Statement Il : R value of a compound remains constant in all solvents.
Choose the most appropriate answer from the options given below :

Options :
8643519311 Both statement I and statement Il are true
8643519312 Both statement | and statement Il are false

8643519313, Statement 1 is true but statement 11 is false

8643519314, Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643513101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1805 Botdh DHBeaen a,a’};mmjfum :

DBBes I Moo edo R) Lo béb [ 2oBes o8 FeFrd

£
€A
C
a8
-
E“\
0%,
a8
&
i,
f_l,.r
&5
o
G
A
%
0S
el
d
a3
Y
g
o) E}‘i‘
o
G.
3
£he
¢
C.
&

Options :
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8643519311.

8643519312.

=
8643519313.

wxes 15058 soth 500 Ak8es 115058
8643519314. = =

Question Number : 42 Question Id : 8643513102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :

8643519315.

8643519316.

)
B,
|

8643519318.

Question Number : 42 Question Id : 8643513102 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f aE . = il 'y
& 8EEr8E RaEdS» ?

er

=
= 1=
o P
Iﬁuawcwb

Options :

8643519315.

8643519316.

8643519317.

vls]

8643519318.

Question Number : 43 Question Id : 8643513103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

i

(Major Product)

Product “A” in the above chemical reaction is :

Options :
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8643519319. CK—/

8643519320, CH,
Br
O<J:/ CH,
8643519321. .
Br
CH,
8643519322. CH;

Question Number : 43 Question Id : 8643513103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H Br

" i

CH, (DS Eograwgo)

) T EJ' b Bdirao “A” D8 ?
— = e
Options :
Br
CH,
8643519319.

46/90



3/17/2021

B cH,
8643519320. CHj
Br
CH,
CH,
8643519321.
Br
CH;,
CH,
8643519322. :

Question Number : 44 Question Id : 8643513104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 O"Na™

+ NaOH

v

The above reaction requires which of the following reaction conditions ?
Options :

= » |
8643519323, 023 K, Cu, 300 atm

2643519304, 272 K, Cu, 300 atm

8643519325, 023 K, 300 atm

2643519326, 272 K 300 atm

Question Number : 44 Question Id : 8643513104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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da O " Na™

+ MNaOH

¥

-

E S Al
(=N 0= ?

D SE BOdS ST $6JHes BoBTEE
Options :
3643519323, 623 K, Cu, 300 atm

8643519324, 272 K, Cu, 300 atm

23
8643519325, 02> K, 300 atm

8643519326, /2 K, 300 atm

Question Number : 45 Question Id : 8643513105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

: F - g
8643519327. 4-Methyl pent-3-en-2-one

T AT ; -3
8643519328. ~ 4-Dimethyl pentan-3-one

7N e
8643519329 Methyl cyclohexanone

8643519330, 3-Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643513105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Bo0BS Eet@wa 3 @) erees aesham
Options :

4 50835 0ot5-3-55-2-4.8
8643519327.
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8643519328. =

8643519329.

35058
8643519330. =

Question Number : 46 Question Id : 8643513106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Hoffmann bromomide degradation of benzamide gives product A, which upon heating with

CI—IC13 and NaOH gives product B.

The structures of A and B are :

Options :
®)
NH,
A e
8643519331, Br
NH,
. {::f::J
8643519332.
NH,
8643519333. Br

NH,

. ij
8643519334.

NH,

CHO

NC

NH,

B — é)/fllﬂ

NH,
CHO

o
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Question Number : 46 Question Id : 8643513106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s,

BozdE D FHHI (FHIE EhDdlo (Hoffmann bromomide degradation) 3 (Sdireiiio
a— i —I o)

=

A ©9odod. A B CHCL, 580 NaOH o8 3& 37 Bdireigo B dG)&od. A8 Beo

0
= =

?JD’E&:&’:@ SBEMPe

Options :
o) 0
? _NH, 2 :I\'I-Iz
5 5 CHO
8643519331, Br Br
NH, NC
SIS
8643519332,
NH, NH,
A — i> B — ¢/ Sl
8643519333. = L
NH, NH,
& 5
8643519334,

Question Number : 47 Question Id : 8643513107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
O O

Ethylene Glycol
wylene Glycol "

OC,Hs >
HY (Major Product)

The product “A” in the above reaction is :

Options :
OH

P

O O

OCoHs

O
OH

Q

8643519335.

8643519336.

4

/ OCsyHs

OH

8643519337.

QO
Tl
OCyH5

8643519338.

Question Number : 47 Question Id : 8643513107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

P —
GCQHE B > A

H }
(s |Boirass;o)

o "

=, . e B e N P WL Y i
2 wed” (Sdireso “A” b ?
e ] ]

L

(
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Options :

O Q
OH
OC-H
8643519335. 2
0
I
OH
8643519336.
Q
N
DCzl 5
8643519337. OH
)
S
GCQI I5
8643519338.

Question Number : 48 Question Id : 8643513108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction is an example of ammonolysis ?
Options :
96435103390, CH-COC1+C.H:NH, —  CH,CONHC H.

CH-CH,CN _MHl | c H.CH,CH,NH
8643519340, © ° 277 T 7 TeST2m2R

3643519341, PRE Tk oy et D

8643519342, CHsNH, HD |, GH;NH;3Cl
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Question Number : 48 Question Id : 8643513108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

8643519330, CH-COCl+ CigH:NH, —— CH;CONHC.H;

CH.CH,CN _IHl | C_H.CH,CH,NH,
8643519340.

C.H.CH.Cl+ NH, — . C.H.CH.NH
8643519341, @ 2 2 3 BB e

CH.NH, HA  C.H,NH,Cl

8643519342.

Question Number : 49 Question Id : 8643513109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

Competiive inhibitor binds to the enzyme’'s active site
8643519343, P ,

8643519344, ‘Alosteric inhibitor changes the enzyme’s active site

8643519345. Allosteric inhibitor competes with the enzyme's active site

8643519346, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643513109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o - B BH Jo20H0N) VOGN Ve PG 28 7
Options :
8643519343.
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P& D6°$E5n (Competitive inhibitor) JoFS BnE) Easrde (active) P08
208 oW ERD.

@08 AFHESD J0BEDH @) Boirde Pl SEED.
8643519344, % ®

™08 B5EESD, JoBD Euirde FHo&® FE Hehera.
8643519345. = -

SPEEHED (Non-Competitive) D5 EES5 06008 FPardd wofosaiharo.
8643519346. e e

Question Number : 50 Question Id : 8643513110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct structure of tyrosine ?

Options :
COOH
H5N H OH
8643519347.
COOH
H>N H
OH
8643519348.
COOH
H,N H
OH

8643519349.
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COOH

H,N H
OH
8643519350,

Question Number : 50 Question Id : 8643513110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v B 151 £
2500 (B0l TEE° 268 ?

B82S DY) BoEeE oy &
Options :
COOH
H,N %DH
8643519347.
COOH
H,N H
OH
8643519348.
COOH
H,N H
OH
8643519349.
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COOH
H>N H
OH
8643519350.
Chemistry Section B
Section Id : 864351208
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351208
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513111 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solutionis 10
(Round off to the Nearest Integer).

[Given : Atomic masses : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643513111 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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100 Smerees ::m_,lm‘mammu =08 I s x 10~ 2 (225720050 Cﬁi”.ﬁ JeorosS
83 dhaw).

[0S ME&Sre groren : H:1.0u, O:16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513112 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is kPa.
(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 | mol L1

Atomic masses : C:12.0u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643513112 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

28°C &E 2.8 SEToiA 64 g o DHEIS H8kn 88 go BT FeBE © D Hsn ¥ 10L
FSS 50A0D 2Ssw kPa.

(ezsmrecdd & TroseRE DOTE )

[FroinHen elHDEE 0HE 5. R=8.314 J mol~1 K1

DB5een groren 1 C: 120w, H: 1.0y, O : 16.0 y]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 53 Question Id : 8643513113 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513113 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2.8 @8)Etrd H n=4 HOCEH m; = —3. & ad)ird L &S TS dwre Sogy

(JrTrol aszeaw).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513114 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The standard enthalpies of formation of Al,O, and CaO are —1675 k] mol™ ! and
635 k] mol ~! respectively.

For the reaction

3Ca0 + 2A1 — 3Ca + Al,O, the standard reaction enthalpy A H'=__

(Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643513114 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

=L & .
ALO, 88w Ca0 o |Hrm Soddwm Jograyen H58%me —1675 k] mol—1 S58asw
635 k] mol 1.
Bob ~L"'EJ'5§J

3Ca0 +2Al — 3Ca + ALO; (25res  S5T7 Qum‘@:ﬁ AHY=__ K]

(ezaecd S0 JrTroseRS HBDAEWD )

=]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513115 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPPa in the vapour above water.
The molar solubility of oxygen in water is %1072 mol dm 3.
(Round off to the Nearest Integer).

[Given: Henry’s law constant = K, =8.0 x10* kPa for O,.

Density of water with dissolved oxygen = 1.0 kg dm 7]

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643513115 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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D8 58A% efus, D8R o 20 kPa o 88 HEaed) Seoridiod. D8 edus

Srerl [Traeché %107 mol dm 3,
(558 FrorosR8 K¥BTchod).
[5S TR AoHB JoroLdn O, &, Ky=80x104kPa;

L8RS ©dxS Ko ABFolES = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513116 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0x10 %) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %10~ > (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513116 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

001 3»S © 28 2odwd o HA (K,=20x10"6 5 10Leo 01MHC @Ersecs®
g8fomrd. HA @n¥) Dbl ol %105,

(&K8 FrorosR8 HoTchod).

[HA % 500555 58505 r008® Srdyy 8850 9B sm.

el @Rdd <<1 el 9B HAw]
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643513117 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe>* in acidic medium completely reacted with 20 mL of

0.03 M aqueous CrEO;T". The molarity of the Fe>* solution is %102 M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513117 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= > = .—~ 2— ah .
15mL e Fet mordndin ofpoirddod® 20 mLo 003 Mo Crhy07 [Gr&6ao& e

=
—D

= o | i W oB | o o =1 =
ST obol, Fe*t [mrdimsy Irardd X107 =M. (essremsdd &0 syrgrosR8 20

L () o
D).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513118 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is %1073 s~1. (Round off to the Nearest Integer).
[Given : log;2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513118 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a8 ol ESro8 SGiE° 570s o Saed 32% (Sciredtin soAdoh. [Y; Ol HTPoSHD
X107 3571 (zarendd &H0 JrposedE HOTAmIED).

[32)% logye2=0.301, In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513119 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of ‘A" with excess of :5'Lgl“~\I‘C'!3 in aqueous
medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 8643513119 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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2t Terdbeod® ©e0d&® 3o gk Vo)) sbBN W IBdiradio ‘AT 28)0D08. aotriaod”

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513120 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,S0,

S
>

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is %. (Round off to the
Nearest Integer).

(Given atomic mass : C:120u, H:1.0u, O:16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513120 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,

(essoeecdd S8 D
()

=y = BrR B E a Myatoo oy Al
mrodat 492 ge JEToRs D 0D0H. B S
— - %) — :

Ao Bl
rorosSeE H83cinab).

e

{f.—::.i'}u}:fu arean grroven :C:120u, H: 1.0 u, 0:16.0u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351209
5

Online
Mandatory
20

20

80

Yes

1
864351209
Yes

Question Number : 61 Question Id : 8643513121 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In a school, there are three types of games to be played. Some of the students play two types
of games, but none play all the three games. Which Venn diagrams can justify the above
statement ?

P Q R
Options :

8643519361, L and Q

8643519362, L and R

8643519363, 2 and R

8643519364, 1None of these

Question Number : 61 Question Id : 8643513121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,% Fbzrodt Suvdh Sore esten atrd)) sob. Bodtn O ﬁﬂu Toth Uore) esdiendy et

=

D A5G Sroe Swrdodd el & ESEINIERS

q
e

ol IS Vgren F&Hoaran ?

P 0 R
Options :
8643519361, | 00%® Q

P %805 R

8643519362.
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8643519363, Q 00 R

gl

& 8 ., & v,
&, & &
MU alod TPal)

C

8643519364.

Question Number : 62 Question Id : 8643513122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +1z) is :

Options :

]
-
]

b=

8643519365.

8643519366.

|

8643519367.

(=1

8643519368.

Question Number : 62 Question Id : 8643513122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A(z), B(iz) and C(z +1iz) eo @D’F_WPF (ZEESTe) STPLLO !

Options :

a

512 b iz|?
8643519365. =

1 i

2 L
8643519366.

1

Y
8643519367. =
8643519368. .
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Question Number : 63 Question Id : 8643513123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

’ 0 sinao | ' £ ony 1
If A= and dnt| A —I | =0, then a possible value of « is :
| Sine 0) ! 2
Options :
w
8643519369, *
-
3
8643519370.

B

8643519371, ©

EN

8643519372.

Question Number : 63 Question Id : 8643513123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| 0 sine) L 1. ] s = L
2 s08c0 det | A — =1 | =0 wong, aH Jdod@y 2.8 Densd :
| Sinee 0) \ % ©
Options :
a0
8643519369. +
a0
8643519370, 3
aT
6
8643519371.
o
8643519372, 2
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Question Number : 64 Question Id : 8643513124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The system of equations kx+y+z=1, x + ky+z=k and x+y +zk=k? has no solution if k is
equal to :

Options :
8643519373.

8643519374.

8643519375.

8643519376.

Question Number : 64 Question Id : 8643513124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o I . 2 v c
SahElmre $gG kxty+z=1, x+ky+z=k Ho0c0 x+y+zk=k* & ;S gast

8643519373, U

8643519374, 1

8643519375.

I~

8643519376.

Question Number : 65 Question Id : 8643513125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Team “A’ consists of 7 boys and n girls and Team “B" has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :
2
8643519377. =
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8643519378. E
5
8643519379.
6
8643519380.

Question Number : 65 Question Id : 8643513125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ety ‘A’ E° 7 0% erent®, nerdten Botn sH8ai ety ‘B’ &°

. € Dotd ad) gy erentd 2ento & 5805 ardE OEET ety BoAd abe Eﬁuf%:

Ux,

2 @008 n=

(9] ]

Options :

’)
8643519377.

8643519378, *
8643519379, °
8643519380.

Question Number : 66 Question Id : 8643513126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the fourth term in the expansion of (x 21082 17 is 4480, then the value of x where x € N is

equal to :
Options :
8643519381,
>
8643519382, ~
3
8643519383.
4
8643519384.
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Question Number : 66 Question Id : 8643513126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
7 v § S e s =
(x+ xlogn x)7 Go¥) Djdes SR T 5860 4480 wond x e N, x Gnd) Dend=
’ T ¥ T

Options :
8643519381, |

I3

8643519382.

8643519383.

8643519384.

Question Number : 67 Question Id : 8643513127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of 4 + ] is :
5 4 q
4 4 :
5 4
4+ ... *
Options :
2 430
8643519385,
2+ 4 /0
8643519386. Vo
5+ 2./30
8643519387. 3
4
4 -ﬁ;«JED
8643519388, v

Question Number : 67 Question Id : 8643513127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

1
4 4 1 J:Smé* 2end
54 1
4 4 T
54
4+ .. o0
Options :
2
2+ —J30
8643519385.
”
2 + —+/30
8643519386. 5
' 2
5+ —+/30
8643519387.
. P
4+ —+30
J5
8643519388.

Question Number : 68 Question Id : 8643513128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1(a)=cot~12+cot =18 +cot ~ 118+ cot~132 + ..... upto 100 terms, then « is :
Options :

8643519389, 1-00

8643519390, 1-01

8643519391, 1-02

8643519392, 1-03

Question Number : 68 Question Id : 8643513128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
cot " Ya)=cot™ 12 +cot ™18 + cot " 118+ cot =132+ ..... 100 Here $EH, ©ovd a=
Options :
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8643519389. Sl

8643519390, 1-01

2
8643519391, 102

8643519392, 1.03

Question Number : 69 Question Id : 8643513129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of y= 5logx jg -

Options :
1
s logy
8643519393, 0
1
s 'l.l"]UES
8643519394, © !
- — slogy
8643519395, X 2
x = y]::uES
8643519396,

Question Number : 69 Question Id : 8643513129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i~

y=>5108% @ws) DS°Ho

Options :
1
x = 5]”5;-1'Jr
8643519393.
1
=1 ogo
8643519394.
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x = 5logy
8643519395.

R 5T e
8643519396, Y=Y ¢

Question Number : 70 Question Id : 8643513130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
lim cos”Hx = [x]?) - sin™}(x - [x]?)

n
x—0 - IS

The wvalue of

, where [x] denotes the greatest

integer =x 18

Options :
a0
4
8643519397.
8643519398, U
. am
?
8643519399, <
8643519400.

Question Number : 70 Question Id : 8643513130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[x [1]2] - sin” ! x — [x]°)

4 . o £ oy, W oy i Cos |
[x] @386 = x& wedd KB Jrorosei) Hrdw, lim, @Bng)
at o = 8 o x—) T _1.3 =
Send :
Options :
i
8643519397, *

0
8643519398.
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IER

8643519399.

8643519400.

Question Number : 71 Question Id : 8643513131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(a) for « € R such that

H sin®x
w) = E dx
B(e) 1 cos®x + sin®x
Options :
8643519401 g(w) is a strictly increasing function
8643519402 g(w) is a strictly decreasing function
1

g(a) has an inflection point at « = E
8643519403.
2643519404 g{u] is an even function

Question Number : 71 Question Id : 8643513131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a e R, gla) I,gf.ﬁ)u‘lj;w

% . )
gla) = I sin_ x dr edypod, g(a)8 dowodod BobrBs® Db $BH0 = ?
T CDS[II | Sf_'['[[l_'x
i
Options :
8643510401, BRGK S STEEE st (HHhako
864351040y, B(0) &8 QE0SE ©S6%rn (Hbabo
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1 B i -
a=- =5 gla) © a8 S0y oD (B Sodr) Bl
8643519403, &
(o) 2.8 $H6 [H3cho
8643519404, z

Question Number : 72 Question Id : 8643513132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

.dy
- = 1+x—v:y({=0:
3 y:yO)
Options :
el

y(1)=e > -1
8643519405.

' 1

y(l)=e2 -1
8643519406. y)

8643519407.

8643519408, Y1) =1

Question Number : 72 Question Id : 8643513132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£ d‘[ ¢ i o o P & = - = =] £
WHBON PBS0 a’f =xy —1+x—y;y(0)=05 003 y(x) & Jowohod) EodzrdE
;-3 y Nesg 7
Options
-
y(l)=e 2 -1
8643519405.

75/90



3/17/2021

1
2

(ST

y(1) = e
8643519407.

1)=1
8643519408. y()

Question Number : 73 Question Id : 8643513133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+2=0, then the centre of the
circumcircle of the APQR is :

Options :

8643519409. (1 4)

8643519410. . 2)

(~1,0)
8643519411.

(2, —2)
8643519412.

Question Number : 73 Question Id : 8643513133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a8 (Bdbeo I"QR‘I;":‘ P s08ain Q dothae NEEdsten W (-2, 4) o0cin (4, —2)en PR

L=

iﬁm:’ég_ 0 Eﬁ&”uﬂ:;azutﬁﬁfi Om H&n¥semo 2x y+2=0 owocxad, APQR ﬁn:’é& 388 éulgﬁu .

3
Options :
8643519409, (1 4)
8643519410, (07 2)
(-1, 0)
8643519411,

8643519412. =
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Question Number : 74 Question Id : 8643513134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x — y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y =4. Then, the radius of the circle is :
Options :

53

8643519413.

8643519414, OV

8643519415, 45

NG
8643519416. 335

Question Number : 74 Question Id : 8643513134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

8643519413, V3

Vi

8643519414.

i

8643519415.

i

8643519416.

Question Number : 75 Question Id : 8643513135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2+y?—10x— 10y +41=0 and

x2+y?—16x— 10y +80=0
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Options :
8643519417, Circles have two intersection points.

2643519418, Both circles pass through the centre of each other.

643519419 both circles” centres lie inside region of one another.

Distance between two centres is the average of radii of both the circles.
8643519420.

Question Number : 75 Question Id : 8643513135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(SodAchads Soth HTodh Hoxohod) PR 5P (HITTR I8 F 0k

x2+y?—10x — 10y +41=0 S85»
x2+y?—16x— 10y +80=0
Options :

&:;@_‘;:“’:D Dot oy dothaen Budd.

8643519417.

Bodh HHaren 2.8 ord Boldo Hooe HEES Fob.
8643519418. Ll

Bodh Hore Bolmrwn wEmrd) wodd grifos® HEPE8 éotwod.
8643519419. b

Both Bojmre gy trdo © Botd JyEpe E:'Jﬁ‘:::f_, 2iex.

8643519420.

Question Number : 76 Question Id : 8643513136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
is :

Options :

8643519421, X tz=6

8643519422, * 1 3z=10
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8643519423, X +3z=0

8643519424, X ~z=0

Question Number : 76 Question Id : 8643513136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y-y $0A aote, Hothd (1, 2,3) Hoe B oo Hobd¥so :

Options :

8643519421, X T2=6

x+3
8643519422.

8643519423.

Ix—z=
8643519424, 0

Question Number : 77 Question Id : 8643513137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (p = q) < (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :

8643519425, F 4

5
8643519426. 2 =

8643519427. 17 P

8643519428, 1P

Question Number : 77 Question Id : 8643513137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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o

8, rddbe P¥EEd0 p * (~q) A8

= il

20000 H3N0 (p=q) < (q* (~p)) 38 a8 J&EE
éoexo :

el
Options :

-
8643519425. 5o

8643519426, £ — 4
8643519427. 17 P

8643519428, 1P

Question Number : 78 Question Id : 8643513138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—5 s M, M —F 2y Ty M
Let a =2i —3j +4kand b =7i + j — 6k.

Ifrxa=r X b, r {; I 2; | k = -3, then r - _2';'. ’5; | ;( is equal to :
Options :

8643519429, O

8643519430, 10

8643519431, 12

8643519432, 13

Question Number : 78 Question Id : 8643513138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e

A L Y — Fa e M
a =2i —3j +4k %0000 b=7i + j — 6k 95808,

r X a=¥v %X b, = :I2;Ik?= 3 @ond 21 3;Ik’=
Options :
8643519429, 5
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8643519430.

8643519431. e

8643519432, 13

Question Number : 79 Question Id : 8643513139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the

probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :
5
8643519433. 1
4
8643519434. 9
17

8643519435, 36

1
8643519436, 2

Question Number : 79 Question Id : 8643513139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Boh DS §0oNd. @ ok FDBe drgreid 1, 2,3, 5, 7556050 11 &0 530%?,25&55 Sredo
D5, > O R SnPrOR ﬂua, re) Snéo 8 B @oss -T.Il& iﬂ"’:ﬂm P8 Ko Do E%—Eﬂ'
Options :
&+
8643519433, 12
4
8643519434,
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17
3h
8643519435,
!
2
8643519436.

Question Number : 80 Question Id : 8643513140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' ) s
: : ihs e ; L o b
The sum of possible values of x for tan Hx +1) + cot 1| | = tan 1| H| is :
\ el iy

x—1)
Options :

8643519437. 4

8643519438, 4

31
4
8643519439.
30
8643519440.

Question Number : 80 Question Id : 8643513140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i B \ S 8 .
tan (x + 1) + cot 1| | = tan 1|— ed@RtnN) Ol Jody x Jende Jndo
\ X } 31, ; 5 - v
Options :
33
8643519437.
32
4
8643519438.
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31
8643519439. o

30

4
8643519440.

Mathematics Section B

Section Id : 864351210
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351210
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513141 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z =6xy +y%, where 3x+4y = 100 and
4x+3y =Dforx 2 0andy = 0is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643513141 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x = 058» y = 005 3x+4y = 100 S8 4x +3y = 75 oty SDhsso z=6xy+y?
& z i".f:lt-él, Sen s

Response Type : Numeric
Evaluation Required For SA : Yes

83/90



3/17/2021
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643513142 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
i 10

If A= [ 1], then the value of det(A%) + det| Al0 (Adj(2A))

0 ],I is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513142 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 A g '
\ = [ ] ﬁ-:c.m@.det{.ﬂfi} I dt?li_ﬂm (Adj2A)

10
0 -1 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513143 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)°762 is divided by 17, then the remainder is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 83 Question Id : 8643513143 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-5
s

?_IK

o] TTET = T =
(2021)°702 %o 17, 3 grhodme Hdy Fhdo=_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513144 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

_'1'4

If the function f{x] —

is continuous at each point in its domain and

£(0) = % thenkis _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643513144 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

o
e

[$Dado f(x) = 1 oJdd PR (@Eado 67 (D8dothy HE e EnHEr
W] Lyl
X
1
f(0)= 3 @ond, k=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 85 Question Id : 8643513145 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f [ - ] represents the greatest integer function, then the value of

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513145 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[- ] 238 K65
[=%;

Jeoros gri (Hebdird) Srdw,

[= %

VF
I [[1‘2] cosx} dx| @Bwg) Dend
0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643513146 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The minimum distance between any two points P, and P, while considering point P’} on one
circle and point P, on the other circle for the given circles’ equations
x2+y2—-10x— 10y +41=0
x2+y? —24x 10y + 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643513146 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

58 Sere SHstoren
—D e —o

x2+y?—10x — 10y +41=0
x2+y?—24x—- 10y +160=0

B ol . 2. s "
wow &8 QEo  dothdd Py

P, ©onS P, mﬁ@l” SR Taly

=

LG&

8o @ dotay P, &0Tew, NI Both DotHen P, $:6050

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513147 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the equation of the plane passing through the line of intersection of the planes
2x -7y +4z—-3=0, 3x—5y +4z+11=0 and the point (-2, 1, 3) is ax +by+cz—7=0, then
the value of 2a+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513147 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2x—Ty+4z-3=0, 3x—5y+4z+11=0 od Sore PGS By Hooe e Hdas» (-2, 1, 3)

Dot 893 oo ax +by+cz—7=0 0odYD, 2a+b+c—7 BwE) Jend

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643513148 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let there be three independent events E, E, and E;. The probability that only E, occurs is «,
only E, occurs is § and only E; occurs is y. Let “p” denote the probability of none of events

occurs that satisfies the equations (a—2p)p=ap and ( — 3y)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Th Pr obability of occurrence of E; | Sk
o is equal to
o Probability of occurrence of E4 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513148 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i i

T & eﬂulgj aobden E,, E, 0805w E, 0T \aDiHEi ol E, Q:J"L_wﬁa POBDOLHEE Hogrss

a, E, S3m(gs0 Sogidohid Hogr

a,

& B 20Bc Eg & Sr|ED HoFDoihbd Sog g8 yostod.

G-

& oty PJobond” N0 HoglohBiothirdh NHogragd P D8R, (a—-28)p=ap OGN

5] a

(B—3y)p=2By @3 HinBderesd: &3 inﬁo@oéﬁ%’sué. &) NOgP

il

Seden (0, 1) wod8osI

&otrchds o, eHdh

E; Hosdoches ROgr%E

E; J0gdosnd Hogrags

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643513149 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 4

; 2
If fix)= sm{cns 1 —‘
f(x) ‘ Ll 2

e R , ¢ B
and its first derivative with respect to x is — —log. 2 when
a
/

$ £ w ) ) &
x=1, where a and b are integers, then the minimum value of |a~—b“| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513149 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Iy . Y
2 )
! 1{1—2 e 2
f(x) = sin| cos (—211_ HOdn x=188 (HJdho @wE) Sndd 618 edfo=o
14 =

v

%,

b \ P g :
—log, 2, (a, b ew Jrorosren) wond,|a”—b| @wg) B Jeosd
Be L i
(2] wr [

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513150 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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— A,

If a =ai +pBj +3k,

b = [ﬁ.i‘ rx-_;‘: ﬂ and

1

I
lx.l-_
el

—

such that a - b =1 and E

: — —4. then %H: o Ej . ;] is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513150 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

—3 Y

a —ai4 [:‘:.j. F 3k,

—# M ey Fas

b =-Bi —aj — k obdin

— o " .

c=i—-2j—k ®3ID

g 3 T e "5lﬂ><bc T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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